TTEM NO. PART NUMBER DESCRIPTION QryY.
1 632-0587 S/A EXTRUSION/HP/BRKT W/PCB RGBW ADDR 4
REV. DESCRIPTION DATE APPROVED
2 632-0019 BACK PLATE INSPIRE XT TERMINAL STRIP 1 B | CRANGED 6320147 T0 632-0201 | 2018-04-27 PG
3 632-0506 CAP CLOSING INSPIRE BLK 1
c | CHANGED 900-1170TO 900-1180; | 5019.04.95 PM
4 631-0021 LENS NARROW FOR OP-5LN2-0445 1 632-0009 TO 632-0505
5 631-0005 BRACKET HANDLE HOUSE LIGHT 1
— 6 632-0505 REFLECTOR PARABOLIC SPUN INSPIRE 1
7 632-0024 SPACER INSPIRE 1.75 1 o o o o ° @ @ @
8 430-4115-1 STDOFF M-F M3x15x7, 6mm STUD 4
G 9 450-2809-4 WASHER LOCK M5 (+) 2
10 450-1212-0 SCREW M5x12 PH PLPS BLK 2
1 430-1110-0 SCREW M3x10 FH PLPS BLK 4
1 12 429-6113-9 SCREW SELF TAP FH PZDV BLK $T2.9x13 RoHS 8
13 430-1212-0 SCREW M3x12 PH PLPS BLK 2
14 430-2107-0 WASHER FLAT M3 BLK 2 0
15 440-1216-0 SCREW M4x16 PH PLPS BLK 1
F 16 900-0204 WASHER LOCK M3 BLK 2 (37>
17 632-0023 BAFFLE 1
18 632-0022 BRACKET PSU TERMINAL STRIP INSPIRE 1.75 (+) 1 @ @
] 19 900-2061 POWER SUPPLY 24V 150W SBU-150-108 SCREW TERM 1 o 0
20 632-0302 HARNESS CAPACITOR NOISE 1
21 |430-4125-1 STDOFF M-F M3x25x7, 6mm STUD 2 @ @
E 22 430-4110-1 STDOFF M-F M3x10x7, 6mm STUD 2 @
23 632-0201 PCB COMPLETE DMX IN-OUT - INSPIRE XT 1 @
24 |42511060 M2.5%6 FH PLPS 4 @
— 25 430-1106-0 SCREW M3x6 FH PLPS BLK 6 @ e
26 440-1208-1 SCREW M4x8 PH PLPS BLK 2
38 |430-12060 SCREW, M3xé PH PLPS BLK 2 @ o
28 900-1170 THERMAL PAD PSU INSPIRE XT 1
D 29 632-0583 BRACKET PCB SUPPORT HEAT PIPE 1 0
30 632-0500 HEAT PIPE BENT 4 @
31 900-1180 THERMAL PAD ENGINE 1 @ e
] 32 632-0137 PCB COMPLETE LED RGBW CQ INSPIRE XT TERMINAL STRIP 1
33 450-1420-4 SCREW M5x20 SHCS Zn 8
34 632-0106 PCB COMPLETE HOUSE LIGHT MAINS 1
C 35 440-1216-0 SCREW M4x16 PH PLPS BLK 3 o
36 632-0312 JUMPER 4 PIN 15" 1
37 430-1212-0 SCREW M3x12 PH PLPS BLK 4 @
38 450-3205-0 NUT HEX M5 COMBI BLACK 1
— 39 [450-2609-1 WASHER LOCK M5 EXTTOOH ZN 1
— LSS OTRERWEE SPECTED [ T
OWENSOS AN MM | ool p | mwoess SMB.E,&I.!.‘G..‘"’CM
210150875 el mm  {mwoes| TMLE:  NSPIRE XT - BLACK
§0 500 ‘t sover] v |20043 | \MODEL 632-8200 EXPLODED VIEW
ANGUAR 1 DE :
e @ P/N: CHINHLRGBXT
[(OLERANCIO PR ASMETI4S PROPRIETARY AND CONFIDENTIAL
A ertomam o [ STE WG NO:
N o | A2 632-8200
Sonocnoe | ° SCALE:NTS [WEIGHT: | SHEET 1 OF 1




